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Part A

' ..' paft B consi,iis of 5 Units. Answer any one fuli qLrestion fi'om each unit'

Eachquestiontu*it'l0marksandmayhavea'b'cassubquestions'

PART'A 
(25 Marks)

l.ii :l 'wr.,ut is Cratieiof Servrce? ,.. ^ll' , ' t2l

b) Define ii) Cont"nce rime (ii) System Capacity l;l
c) Define cross talk' ^ . 0t' an anrennil sysrent. i3l
ci) Define the terms (i) Poianzation and (ii) DrrecLrvtty I

e) What ls l-neant b.v foiiage 'i Detine foliage loss 
a, qile ,nierrnas'l Ex 

i2)

f) .whar is rhe.r4inimum separatign requiiec "*lr"::: 
cell srte aniennas'l E'xpiarn brietly i-11

g), ''i.What i, **uni tfy f''*quen"y mariage mcnt '"' '':' " ' il]

h) Write *r,n"Iottl on sectorization' i3l

i) What is meant by hanci-off ancl irandoff algcritirm t2l

j) Explain tr" t""ttpt of clelaying'fln"tiuff iibfiet' |31

PART.B
'(5{} Marks)

2. what are lhe various techniques r:secl to expand the capacit'v- of a cellular system ], Explain

ii0l
any two.

OR

3.a]DeriveCilfr.Omanornralcase.itiaornnidircc!i.()llalantl.l]|.}i1S}slclT].
tl)Writett',*r,t,"*tugesaittlcli'sadvantagesofiG'anilCceliuiarS)'Stems'

is+s i

4'a1 Determirre the srgrral to co-channei tn[erlerence ratlO at the n-rcbije receiver }oeated at the

boundary of its oiilniclirectionai operating cell 'under the inflltence of interfering slgnals

,l::,::.:from ,t* "o-J*nnei 
interferirl$,1c.rf' ln ire ]ir11 

tiel irt a ceilular system degil1ed with

;'"'' i 'l ') N=4 and'lii)lN=7 " Assurne path ioss exponehf is 4'

b) write ,t ort nnt;;n '+J.lut"nith;;;;l inierterence' [6'4]

OR

5.a) Write short trotes on: i) space diversrty ii) 'Iirne diversity'

p)" ..Discu$ n")r'3;;"r" n*,gn, 
:.llrrr, 

it," .or.rugq and rnre'f'ererlce o{ cellular system'[5+51

6 .a

",,. :

a) Discuss lhe memerits ol Point to Point model'
a)

b) ;;;il- irr. urrt.t of propagation of mobile signais over water' i 5*5l



OR

?.a),-.Exp1ainunttjrellaailteiinapl1tte]:nSrndetiril...
b) ' 'Iixpiarn rn detzril abcuL iortg-ciistance propagatloli'

La) Differentlate between FCA and non-FCA in ijelaii'

b) Erplain lrow the 566 channels are ilivtding lnto groups'

OR

9,ll E,xpiain lhe icllit.ri In!: l-; e itutrncl barl.tti,r.tng ir) tir,erlartl celis'

61 Erpiain t5e ciian.ei a-\sigt-tn-]e trt to the r,.biic r'tntis in iietari'

10.a) What are the varrous handotf initiation techniqrres? Expiain any two rn brief'

b) Write shorr nores on: i) Mobile assisted handolf ii) sott handoff [5+5]

r.,:, il.a),.,:How can harid,off be initiated ai'tr,e boundary;of two cells, based upon firdsliold point 
"'" 

I

considering signal at lwo base stations'

b) What is meant by a dropped cail? l$hai are the factors that infiuence the dropped call

rate? [5+51
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